www.Padasalai.Net www.TrbTnpsc.com -
BENSSY

V11M aSMBIBHT w1 th

yenyuTen (B Quugsh Cmiay - 1gabui 2023

oxming 11
eyl i
ved - »

Ouagdswiar e on Csi4OsHasa)b:

1) 3 e glysst Qaner_ semsdlen Bgnen Qg i ysaflen eemmenflsoms

b) 81 c) 512 d) 1024

. . ) . ‘ 4 (11 %
GE']LD 3 OO I.Dmﬂ C)‘L()"Qﬂ 1L ﬂl]6| COuT S

2) f;)[_93, 3] - S eremp amiy f(x) = x? srem euemywipyssILL(H CunGangse efle )
seTugl
a) [-9, 9] b) R o) [-3, 3] d) [0, 9]
3) |x-9| < 2 eexflev
a)7<x<11 b)yx=11 )7>x>11 d)yx=7
4) x2+|x-1| = 1 e Siayseflen srcvmenflsma
a)l b) 0 c) 2 d)3
5) 7- 43 auissapeod
a)2+.3 b) 3+ .2 c) 2-3 d) Jf3+2

X X S .
6) 4 sin?x+ 3 cos?x + sin 5 tcos o @en BUGL@® LY

a)4+.> b) /3 +2 ' c)9 d) 4
7) cos 1°+cos 2° + cos 3° + ....... + cos 179° = ‘
a)o b) 1 c) -1 d) 89
8) 1+3+5+7+....+17 e &y
a) 101 b) 81 c)71 d) 61
9) 44 ppevevelll L museT 2 een @ LGsramsSlen Lsamsailen aamenflEams
a)4 b) 4! c) 11 d) 22
10) 38°g 13 60 au@ss AemLs@w 54
a) 12 b) 1 c) 11 d)5

11) e aenp Qgn_fled X°-eo1 Q&

3) % b) % &) - d) ¥s

12) y = -x aienp Ganlignh@ (2, 3) eenp yeneflullen GbuLiysief]

a) (-3,-2) b) (-3, 2) c) (-2, -3) d) (3, 2)
13) (x, =2) (5, 2) (8, 8) erenuen @m Can_enwliystaflasn aaflsr X Gei wduy
a) -3 b) ¥ o)1 d)3
14) A aenug @@ sgir siefl wppin |A] = 2 aefler |AAT| e wdluy
a)o b) 1 c) 2 d) 4

15) a+2b wOHHL 33+ mb APwemes Benewar erafleo Meor wdlly

a)3 b) % c) 6 c). %

16) 5=T+j+l2, 6=2T+x-+|2, E:f_j+4k IHELD é_(bxé)=70 sefled X

2)> b) 7 c) 26 | d) 10

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

R \aAnannr D -
www.Padasalai.Net www.TrbTnpsc.com

viiM

lim sinx }
17) x >0 /o e iy
VX d)
a) 1 b)) -1 )0

im || \ \ — |

18) nooln 0 o0 n’
a) !, b) 0 o 1 d)
I dz )
19) y = P srevflev ay sem &Y
B 2
a) (a-2)? b) -(z-a)’ ¢) (z+a)’ d) ~(z+2)
. dp . :
20) Pv = 81 eiafleo v = Je0 ' em wéliy
a) 1 b)-1 c) 2 d) -2
ved -
i) gCsgud gy Panbsesds 0l Bb Ao weaf:
7%x2=14

i) dPars a@w 3048 sLLAWLAS P walésayb:

21) A={1,2, 3,4},B=1{3 45 6} aafléd n((AUB) X (ANB) X (AAB)) snemmrs.

22) sin6 = - “‘?/Z/sin Qurgys Sieneu SMETHS.

23) (n+2)P, = 42xnP, aesfled Nep SHT6T0TS.

24) 1001 @en Gmymw wlueLs sners (DmEFL HHSSWs)
25) 12x+5y = 7 wpmiw 12x+5y+7 = 0 etemrm @ emevoruwiment CanaEmsE PevLuL

STD STETS.

sec’9 tan’e 1

‘tan®® sec’® -1 _
26) Bpiess: | 5 6 2|
1

27) a=3i+j+4k wopd b=i-] +k gfuapmn HOEEHSS LSSHSMTSES
Qanerr Pevemarsdlen LTLLIEES & 6TTS:.

5 _ . Lim
8) wguysnems: . o

(1+sinx)2COSeCX
29) eumsii®a: (i) y = sin (x2) (i) y = sinx
30) @muié swerun(h x2-ax+a+2 = 0 Qe ppevrusen Fw eciaflled Astr NS

& ILGEnETULD &N6TTTS.

ued - @
i) gCsmib g Pearbsepds w G P weaf:
ii) e aam 40d¢ sl Liwwis P weldsa)b: 7x3=21

31) y = |x| erénm euememeusmullen ppeULD
My =Ix-1]+1 (i)y= |X+1|"1 (iii) y = |X+2|+3 é‘bﬁmmﬁ)m’m QIDTS.

32) log,x + log,x + log,x = % stefled Xgp anevvras.

adasalai.net@gmail.com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com
3

vViiM
33) sinx = ?"' L 0ex< ™, imHMID COS Y 4 o
whHliemisd e
34) 1IT JEEewm smb snenoran

a, b, ¢ semuiem e@qm ©N I(H&@HSH\ &N (psmmwins BmbS
6160711607 69 (h Fnl Ha G.'\g;,m fl (|pﬁn‘)ff)llllf(ﬂ;|f' 61601 "ﬂful"l’

n<y e ‘": stenflen sin (X-Y) Pev

| ] p
’ 6168761 LD
b c’

35)
Q@ma@wnesned X, Y,

[0 cos0 sino

cos 20 = 0 qefle (COSU SIn0 0
sino 0 CcOS 0

2

601 InElLIEHLIB HTETHS.

36)
37) waGsnewido ABCuileo AB wmmyd ACWer epwuiiemsflast (pemnGus D wppiw E
sresfleo BE 4 DC - 3 BC erem Hmi6ys.

Lim x"-a" n-l
3 : — -=nNna
38) Lﬂ@m.;{;,. X a x_a

39) y= e X gafied (1+x2)yll+(2x-1)y! = 0 o161 Bmiey5.
40) Ax+y+4=0 sep Canlen Clemi@ss anausSHE DTHMIS .
usd - &
Smbs Paridsapdsd P waf: 7x§=35
41) f:R—R ereim smiy f(x) = 3X=5 s1601 quenTWMISSLILIGET S @ F(GLDE ST 160

Ben g8 ST CHILIN) HTeveTs
. (OR)

1

V1= X"
42) (x ],3 (x-2) & u@GdlulleenmIGenS d]lﬂé;assmb.

(OR)
Crulwfien &sdlisms aws Hepli.

2% -3
43) (x-2)(x-4)

LSS &N6TTS.

3 stem swerunrlenL Hewpea CFLWD Xer Hemens s

(OR)
18 @ Pwed eerr N&@&w N > 0 aefled a"-b" gyemg a-bogyed uGUEWL etem

Blepl86s.
44) 27 +4j+3k, 4i+j+ ok and 10i - j+ 6k e6nm QeusLimemen Hlsmed QleusLiseTrs
Qanewor Lseflaer e ClemGanam paGanamsams mwaEw sen Hmas.

(OR)

150 B Bengperen Qgriin euemgs@ 12.5 5 Hemevwnen SemsCausgdle
Qeeodlenmg (i) Osn_ii euetony Qusssslen swerun® semen? (i) @ sLUSMS
sL58 Cleever abHSs&NEnD Grrn eemen? (i) 850 WL i Bemd Clemevr.
UTeSmBEH SLBF ClFee aBSgs0snmenn Crib e ?

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

VIiM

45)

a6)

47)

www.Padasalai.Net www. TrbTnpsc.com

4
um Hrf2]e 5]
Xx =0 " x| | x x| e Bpes.
(OR)
'(q-*l’): p: p:
A=l @ (r+p) @ =2par(p-g-r) am Bpes.
= ? (p+aq)f

SO @SS 4 CuaTsst LHNIL 3 yETs6T s1ar 7 o peflenissT g semeni. SieuTE
emaellag 3 QuessT LHNIL 4 Syemad san 7 2 peflaiast o seTant. S Drey
S®EdneE 3 Quemast LODIL 3 yETsT yYssLUBL Curs syeafler
mea?mr’rsdw 3 Cur Lpmb wereelien o pellerisst 3 Cur serpeurry slmBdes
sehg 0l aneTer cissmean suflsafleo SHEDWPSSHEVMD ?

(OR)

X @0 Comeauwner senefeoner QuAw steser sreaflsd IXT 26 -Ux =36 vHledU

1
Csrrmwwns /x> oo Bnieys.

9X2-24xy+16y2—12x+16y—12 = 0 setiug Benemwnes @risoL CxiCar@ast

se Hmieys. Cogin el Car@aensas Qe il L STS®HSE s;szi'ns'. )
(OR)

80 weCaramsden nD&CastDaar G Yenafl euflsOlseogd sta Bem .

Kindly send me your answer keys to us - padasalai.net@gmail.com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

